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BEANRE ST EEEME S EERE

% [ Bg - KT B # B B @ * # wmE

BRI 13,143, 162
B S 13,143, 162
ES B 3,612,149
FERB R 3,612,149
FERB R 3,612,149
1 FERWERERG (1) A6 1.00 1,268, 865. 00 1, 268, 865

=
2 FEBRBBREMEH (2) A6 1.00 1,268, 865. 00 1, 268, 865

=
3 FEBRBBREMH (3) AT 1.00 1,074, 419. 00 1,074,419

=
BEmaREt 980, 300
BEmaREt 980, 300
B AR L K AR ER 980, 300
4 B AR KRR 1.00 980, 300. 00 980, 300

=
EXFABENER 7,243,100
EXFABENER 7,243,100
EXFABENER 7,243,100
5 ERFEENER 20.00 362, 155. 00 7,243,100

=
HEHE 710, 000




BEANRE ST EEEME S EERE
2 L AR - BT By 2 i & =B

TEE 710, 000
TEEHE 710, 000
6 BEHE (EFHE) 1.00 126, 500. 00 126, 500

=
1 FZEHE (hEHRE) 3.00 126, 500. 00 379, 500

=
8 BEHHE (BRWE) 1.00 204, 000. 00 204, 000

=
REY 20, 150
REY 20, 150
REY 20, 150
9 NHARERE 1.00 20, 150. 00 20,150

=
EHiERE 571, 463
EHiERE 571, 463
EHEERE 113, 789
10 EEALE 1.00 113, 789. 00 113,789

=y
XERERE 463,674
1M EFREREBERUVREZHRE 1.00 463, 674.00 463, 674
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WIEE THTEEREEZAEERE

% g & - BARTE Bifg B 2 B ® & wmzE
E R 12,565,699 + 577, 463 13,143,162
EEAGE 12, 565, 699
EEEE 577, 463
T DR 12,565,699 x 53.85% ( 35% + (1 — 35%) ) 6,766, 628
EHRE 13,143,162 + 6,766, 628 19,909, 790
—REEES 19,909,790 x 53.85% ( 35% + (1 — 35%) ) — 1,211 10, 720, 210
ES it 19,909,790 + 10, 720, 210 30, 630, 000
HBEREELE 30,630,000 x 10.00% 3,063, 000
EBREH 30,630,000 + 3,063,000 33,693, 000




==X iiE S AHTEEERE B E SRt
BHE 1
L FERBBEMRE (1) A6 EE)
2 o B - BIRTE B B B # W = w =
F AR
A 1.430 66, 900. 00 95, 667
F AR BA
A 0. 260 66, 900. 00 17, 394
AR (A)
A 4.160 59, 600. 00 247,936
HER (A) BA
A 0. 260 59, 600. 00 15, 496
AR (B)
A 6.630 48, 500. 00 321, 555
HEF (C)
A 7.410 40, 300. 00 298, 623
B
A 7.540 36, 100. 00 272,194
& 5 YE%8eH - 1.00K 1, 268, 865. 00 1,268, 865
B5:2
2 FEBBBEBR (2) A6 EE)
2 o 1% - otk ik Bif B B ff %8 T w =
FEHE
A 1.430 66, 900. 00 95, 667
FEHE Ba
A 0. 260 66, 900. 00 17, 394
HET (A)
A 4.160 59, 600. 00 247,936
HET (A) Ba
A 0. 260 59, 600. 00 15, 496
HEm (B)
A 6. 630 48, 500. 00 321, 555
H#EF (C)
A 7.410 40, 300. 00 298, 623
®ig
A 7.540 36, 100. 00 272,194
& H E¥8EH - 1.00K 1, 268, 865. 00 1, 268, 865
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H#E:3
2 FEBBBEBRS (3) AT EE)
2 o B - BIRTE B B B # W = w =
F AR
A 1.210 66, 900. 00 80, 949
F AR BA
A 0.220 66, 900. 00 14,718
AR (A)
A 3.520 59, 600. 00 209, 792
A (A) BE
A 0.220 59, 600. 00 13,112
AR (B)
A 5.610 48, 500. 00 272,085
HEF (C)
A 6. 280 40, 300. 00 253, 084
g
A 6.390 36, 100. 00 230, 679
& 5 YE%8eH - 1.00K 1,074, 419.00 1,074,419
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L EEAN LN E RS EE)
2 o 1% - otk ik Bif B B ff %8 T w =
FEHE
A 2.000 66, 900. 00 133, 800
FEHE Ba
A 0.500 66, 900. 00 33, 450
HET (A)
A 3.000 59, 600. 00 178, 800
HET (A) Ba
A 0.500 59, 600. 00 29, 800
HEm (B)
A 4.500 48, 500. 00 218, 250
H#EF (C)
A 6. 000 40, 300. 00 241, 800
®ig
A 4.000 36, 100. 00 144, 400
& H E¥8EH - 1.00K 980, 300. 00 980, 300




==X iiE S AHTEEERE B E SRt
HE b
B BERBERER 1mHY
2 o 1BIE - AR By B B ff # W = w =
BE - BAE
A 0.100 77,500. 00 7,750
F AR
A 1.150 66, 900. 00 76, 935
F AR BA
A 0.150 66, 900. 00 10, 035
AR (A)
A 1.750 59, 600. 00 104, 300
BEm (A) BE
A 0.100 59, 600. 00 5,960
AR (B)
A 1.250 48, 500. 00 60, 625
HEF (C)
A 1.500 40, 300. 00 60, 450
g
A 1.000 36, 100. 00 36, 100
& 5 YEZERED : 1.00[E] 362, 155. 00 362, 155
ES:6
2 BEHE (EATHE) =ED)
2 o 1% - Fodketik Bif u B B ff %8 T w =
FEHE
A 1.000 66, 900. 00 66, 900
HET (A)
A 1.000 59, 600. 00 59, 600
& it {EZ¥8EH : 1.00E 126, 500. 00 126, 500
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BE .7
& BEIBE (hRIES) 1mHY
2 o 1BIE - AR By % 2 B # W = w =
F AR
A 1.000 66, 900. 00 66, 900
AR (A)
A 1.000 59, 600. 00 59, 600
& it YEZERED : 1.00[E] 126, 500. 00 126, 500
=:8
2 BEHE ERED) =E)
2 o B - BT Bif u B B ff % T w =
BE - BE
A 1.000 717, 500. 00 77,500
FAE AR
A 1.000 66, 900. 00 66, 900
HET (A)
A 1.000 59, 600. 00 59, 600
& it {EZ¥8EH : 1.00E 204, 000. 00 204, 000
H#E:9
2% AERRERE 1tHyY
2 o 1BIE - AR B % 8 B # W = w =
HEF (C)
A 0.500 40, 300. 00 20, 150
& it YE%8eH - 1.00K 20, 150. 00 20, 150
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E#S:10
2 EHARE 1tHyY
2 o 1BIE - AR B B B % w =
EEARE
= 1.000 113, 789. 00 113, 789
& it YE%8eH - 1.00K 113, 789. 00 113, 789
&H5: 11
2% BEFRERERURESEUAR EE)
2 o B - BT By B B ff % % =
EIRERERUBRESENAE
= 1.000 463, 674. 00 463, 674
& it E¥8EH - 1.00K 463, 674. 00 463, 674




